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Principle #8: gy e s s
The Standard of Living Depends on a Country’s

Production

1.Differences in living standards from one

lr =

country to another are quite large.= 1\ g

2.Changes in living standards over time are also
great.

3.The expﬁﬁgﬁon for differences in living

standards lies_in differences in productivity.
QEE- ~—



A gall iny (addia (e O sS Wdie  dunall (5 sl LY Aglany o 585 La Al 50 5 Dl iny
A gall Lol midiie () 5SH L e laia¥) (5 sinall da Jlal) clac Lual) o aaind g i Y il
Lgmall (5 siuse @ ) 3m gl) Jall iy = e L) pmall (6 siuaall ) 555 ) Alony o 5 3
Caiaiia Al ) oS3

Xm@&‘&:\)ﬁ\dw\mw\gw\u\dﬁw@w

8 g el gall Jlimal) (5 ghual)
Cibaleny Al gall o 585 ) (Saall (e JAY
a8 g A L) e 3 g A et
Ll 05 G s cllead




. ah =1
Productivity 4xl\is the amount of goods and

services produced from each hour of a worker’s
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* High productivity implies = J~ a high standard of
living.
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* Policymakers must understand the impact of any

policy on.oyrfjility to produce goods and services.
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Productivity

[,pro-dak- ti-va-te]
A AN ores S
Jeasurlng output per unit of

input to gauge the efficiency
A of production. £%%8s\S(elal
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Principle #9: ~ j e K e KA
Prlces Rlse When the Government Prints Too

ool esndllicans - Much Money
Sl gal delida )

+ Inflation ~3.=l is an increase in the overall level of
(pricesiin the economy, U el s sl i35
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e One cause of inflation
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Y Prlncugle #10:
Society Faces a Short-run Tradeoff Between

#" (Inflation ‘an Unemployment et

N W)
* The Ph||||ps “Curve |IIustrates the tradeoff

between inflation and unemployment:

{ Inflation® 1 Unemployment
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It’s a short-run tradeoff! (temporary)

* The Phillips curve is important for understanding

the businessicycle \&'s..> \
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Business cycle: are fluctuations in @conomic
e Ve Ve WV, Vol

gsg\gy such as employment and production.
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Phillips Curve

[fi-leps‘kerv]

An economic concept

developed by A. W.
Phillips statlng that
inflation and

. unemployment have a
2 G an e,
adaill galUadl) : pulnld as relationship.  ”
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UNDERSTANDING

In the 1950s, A.W. Phillips
plotted decades’ worth of data on
wage inflation and unemployment.

T H E P H I L L I P S C U R V E He noticed an inverse relationship

INFLATION

WAGE
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between these two indicators.

Phillips noted that st Dots represent sample
lower ynemployment W unemployment levels and
was associated with a“&.‘“ changes in wage inflation
higher inflation  —g\shV ) in a given year*
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Meanwhile, he saw
higher unemployment
was associated with
lower inflation
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UNEMPLOYMENT
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« At recent years, starting in 2012. While the
unemployment rate has declined to levels not
seen in 50 years, inflation has remained low for
most of the period. This suggests that the
Phillips curve has “flattened,” or that the

relationship might not be as strong as it once
WS adail) Jad Alldanl) Gl i Cusaddi T ) i) HAS 8
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* Long-run Phillips curve (“LRPC”) a curve illustrating
that there is no relationship between the
unemployment rate and inflation in the long-run; the

LRPC is vertical at the natural rate of unemployment.
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Example 1 = 2=
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* Three managers of the magic potion company are
discussing a possible increase in production.

v, oA Harry Ron Hermione
T S e Oe Al i)y
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We would examine We should We should examine

whether our examine whether |whether the@xtra

company’s our average cost — |revenue from selling the

productivity — gallons | cost per worker- additionalipotion would

of potion per worker- | would rise or fall be greater or smaller

will raise or fall than the extra costs

(-/'39\@632»\613)) BAHLJL Jﬁﬁd\fi L — Q&vﬂl\ AL ﬂ\




Three managers of the Magic Potion Company are discussing a possible
increase in production. Each suggests a way to make this decision:

a. Harry:
b. Ron:
c. Hermione:

We should examine whether our company’s
productivity - gallons of potion per worker- will
rise or fall.

We should examine whether our average cost -
cost per worker - would rise or fall.

We should examine whether the extra revenue
from selling the additional potion would be
greater or smaller than the extra costs,
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) Productivity A

OK

- =

AV‘;age Cost

Jd




Example 2
SO g
* Your roommate is a better cook than you are, but
you can clean more quickly than your roommate.

* If your roommate did all the cocking and you did all
the cleaning, would your Ws take you more or
less time than if you divided each task evenly?
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Example 2

Your roommate is a better cook than you are, but
you can clean more quickly than your roommate
can. If your roommate did all of the cooking and
you did all of the cleaning, would your chores take
you more or less time than if you divided each
task evenly?

Give a similar example of how specialization and
trade can make two countries both better off.

Dr Omnia Elmahdy

SPECIALIZATION
(Principle #5)




Example 2

Your roommate is a better cook than you are, but
you can clean more quickly than your roommate
can. If your roommate did all of the cooking and
you did all of the cleaning, would your chores take
you more or less time than if you divided each
task evenly?

Give a similar example of how specialization and
trade can make two countries both better off.

okl sriay il gdlle 33 g ) sharll () sty G yall.

SPECIALIZATION
(Principle #5)

Example
* French workers can
make perfumes
efficiently.
* Spanish workers takes
° less time to make
clothes
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You win $100 in a lottery.

You have a choice between spending the money
now or putting it away for a year in a bank account
that pays 5 percent interest.

What is the opportunity cost of spending the $100
now? >
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Example 3 OPPORTUNITY
COST

You win $100 in a lottery. Principle (#2)
You have a choice between spending the money

now or putting it away for a year in a bank account
that pays 5 percent interest.

If you spend $100 now
What is the opportunity cost of spending the $100 instead of saving it for a
now? year and earning 5
percent interest, jjoulare)
_Os
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A recent U.S. bill reformirj&g6 d
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How does this change affect the incentives for@s
. \ ,"‘
working? W
_ _ ae leo
How might this ch represent a trade-off
between and(efficiencyy
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Example 4

A recent US. bill reforming the government's
antipoverty programs limited many welfare
recipients to only two years of benefits, *

How does this change affect the incentives for
working?

How might this change represent a trade-off
between equity and efficiency?

Dr Omnia Elmahdy

INCENTIVE
Principle (#4)

A greater incentive to find
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Chapter 1 - Ten Principles of Economics

b s e Y1 1 yaiasd 13 o

Gl (e Gaadiisall 8 ¢y Principle (#4)
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A recent U.S. bill reforming the government's
antipoverty programs limited many welfare
recipients to only two years of benefits. EQUITY & EFFICIENCY

How does this change affect the incentives for Principle (#7)
working?

How might this change represent a trade-off
between equity and efficiency?
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Explain whether each of the following government
activities is motivated by a congern about(@quaiity)
or a concern about &fficiency In the case of

efficiency, discuss the type of market failure
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a. regulating internet prices ~> Yo wteii ol dasin i)
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|mposmg hlgher personal income tax rates on
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Monopollglgﬁ(

Market 5o

[ ma-nd-pa-li-stik]

An industry in which many
firms offer products or

services that are(similar)
(but not perfect)

substitutes.
e 3l L o e Ll
Gilaad ol chlaing culs il
ol i3SI g Jilad) 485
2 Investopedia el

umniah

regulating internet prices



EQUITY & EFFICIENCY

Fxample 5 Principle (47)
Explain whether each of the following government
activities is motivated by a concern about equality Market Power
or a concern about efficiency. In the case of {Monopoly)
efficiency, discuss the type of market failure
involved. 0

a. regulating internet prices

b. imposing higher personal income tax rates on
people with higher incomes

Dr Omnia Elmahdy 17
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EQUITY & EFFICIENCY

Exam ple 5 Principle (#7)
Explain whether each of the following government Efficiency
activities is motivated by a concern about equality Market Power

or a concern about efficiency. In the case of (Monopoly)
efficiency, discuss the type of market failure
involved. '

a. regulating internet prices

b. imposing higher personal income tax rates on
people with higher incomes
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